












































19. If the farmer got a washing machine (1)/

his wife can (2)/ do the laundry quickly. (3)/

No error (4)

(SSC CGL Tier-I (CBE) Exam. 01.09.2016 (II nd sitting) 

(2) As the structure suggests, Past Simple

i.e., his wife could (would) is the right usage.



20. He'd no sooner (1)/ seen one continent

(2)/ when he saw another. (3)/ No error (4)

(SSC CGL Tier-I (CBE) Exam. 01.09.2016 (II nd sitting)

(3) No Sooner…..than is correct  

Correlative. Hence, than he saw 

another is correct  usage.



21. Can I have (1)/a loaf of bread (2)/ and

a jam jar? (3)/ No error (4)

(SSC CGL Tier-I (CBE) Exam. 02.09.2016 (Ist sitting)

(3) Here, and a jar of jam or 

and some jam is the right 

usage.



22. Now that I am back at work, (1)/ I have

beginning (2)/ to feel much better. (3)/ No error

(4)

(SSC CGL Tier-I (CBE) Exam. 02.09.2016 (Ist sitting)

(2) Here, Present Perfect i.e., I 

have begun (V3) is the right 

usage.



23. The reason for (1)/ his failure is because

(2)/ he did not work hard. (3)/ No error (4)

(SSC CGL Tier-I (CBE) Exam. 02.09.2016 (IInd sitting)

(2) Here, Connective-that should be used. It is

improper to use reason and because together.

Hence, his failure is that is the right usage.



24. A large (1)/ consignment of books (2)/

are expected. (3)/No error (4)

(SSC CGL Tier-I (CBE) Exam. 02.09.2016 (IInd sitting)

(3) A Large consignment (Singular Collective

Noun) agrees with Singular Verb (is).

Hence, is expected is the right usage.



25. Do you know (1)/ whom the (2)/ next

speaker is? (3)/ No error (4)

(SSC CGL Tier-I (CBE) Exam. 02.09.2016 (IInd sitting)

(2) Who is used to show which person or

people you mean/used in question. Whom is

used as the Object of a Verb or Preposition.

Hence, who the is the right usage.






